GROCO A Electric Conversion Kit

Available
Item Part Number Part Name Qty Yes No Comments

Not Shown| 3/8 x 1 HB Gear Box-Toilet Bolts 4 X
1 1/4 HP LAMB Motor 1 X
2 A-10 Gear Box Casting 1 X
3 A-11 Gear Box Cover Casting i X

4 10-24x1/2 RB Screws 6 *x
5 A-12 Gear Assembly 1 X
6 A-13 Worm Assembly 1 X

7 #8 Woodruff Key 1 x

8 A-14 Cover Gasket 1 X
9 750- Seal 1 X
10 A-15 Eccentric 1 X
11 Motor Stud Nuts 2 X
12 A-16 Connecting Rod 1 X
13 3/8-24x1 HB Bolt 1 X
14 3/8-24 B Wingnut 1 x
15 3/8 Oil Drain Plug 1 x
16 5/16 x 1 1/4 HB| Bolt 1 X
17 3/8 x 2 HB Bolt 1 x

Note : Although many of the parts for this model conversion kit are no longer
available if the old parts are returned to the factory it is possible
that we can repair them. -




